/DVIRB

3UDFRZQIN 5RINiDG SURI QDG]Z 5RVyi $GDP 7\J

7\J

SHDI]DFID HPSUAF]QHIR
SURIHNIX EDGDZF]HIR SU

7\J

ORGXi GR Z\ERIX ]
SIRI QDG]Z SRVyi

7\J

BRFIRIRIIFIQH DVSHNIN
ZVSyiFTHVQRGFL SIRI

7\J

ODiH VIUXNIXI\ VSREHFQH
SIRI QDG]Z SRVyi

Rl QDG]Z 5RVyi $GDP $CDP =% $"0 QDG]Z "5RVy: $GDP =% $CDP =% $.6
=% $.6/ (0] - $.67 z / -
& 6RFIRRID = INJRGQIX  JDICFID
= ZVSyiFTHVQREFL Z PLQ
= NJRGQX  JDICFID
a PLOXI 7\
=
Q 7N
T 6RFIRRIFIQH DVSHNN
o ZVSyiFTHVQRGFL SURI
% ORGXi GR Z\ERUX ] QDG]Z BRVyi $GDP =%
SUIRI QDG]Z SRVyi $.6/ =
$GDP =% $70
o &
BRFIRIRJID
ZVSyiFJHVQRGFL Z
INJRGQIX  JDICFID
PLOXI RG JRG]IQ\
n
oD
D
Lo
o3
=
™
[od
©
7N 7N 7N 7\G] 7\G] 7N 7N
6RFIRRID 6RFIRRID 6RFIRRID 6RFIRRID 6RFIRRID 6RFIRRID 6RFIRRID
ZVSyiFJHVQRGFL GiZ SIR ZVSyiFTHVQRGFL SURI ZVSyiFJHVQRGFL GZ SIR ZVSyiFTHVQRGFL SURI ZVSyiFJHVQRGFL GZ SIR ZVSyiFTHVQRGFL SURI ZVSyiFJHVQRGFL GZ SIR
| QDG]Z SRVyi $GDP = QDG]Z 5RVyi $GDP =% | QDG]Z SRVyi $GDP = QDG]Z BRVyi $GDP =% | QDG]Z SRVyi $GDP = QDG]Z 5RVyi $GDP =% | QDG]Z SRVyi $GDP =
% $"06 & $"06 = % $"06 & $"06 = % $"06 & $"06 = % $"06 &
a 7\G] 7\G]
ﬁ 6RFIRRID 6RFIRRID
© 2ZVSyiFTHVQRGFL GiZ SIR ZVSyiFTHVQRGFL GZ SIR
T | QDG]Z SRVyi $GDP = | QDG]Z SRVyi $GDP =
o % $06 & % $06 &
7\G]
BRFIRIRJID

ZVSyiFJHVQRGFL UZ SUIR
| QDG]Z SRVyi $GDP =
% $"06 &




